A 01 If a spaceship flew into one, it might be crushed or broken
into pieces.
02 In the movie, Passengers, a spaceship headed to a
different planet travels at one-half the speed of light.
03 He thought that space-time could actually be bent.
04 Like this, wormholes in space may contain two mouths,
with a throat connecting the two.
05 Even if we find one, there are many things to consider
before actually going through one.
B 01 It detects something sweet at the bottom and wants to
move from the top to the bottom.
02 Now, take the paper and fold it with the dots matched up.
03 That would be nice, but space is so vast that it is not possible.
04 Now the worm can either move around the outer layer or
down a wormhole.
05 If such wormholes existed in space, we could get to places

billions of light-years away quickly!
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09 Opening the box, Anne found her favorite book in it.

10@ 11 so that he can 12® 13®
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15 The Daily Telegram published this fake article so that they
could prove if The Daily News, their competitor, was stealing
their articles.

16 @ 17® 18®

20 Not knowing the news was false
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05 The weather's supposed to be nice tomorrow. 06 ®

073® 08 ®

09 It was last night that she was taken to the hospital.
10®

11 It was several hours later that she arrived at the station.
12® 13 Live by, and 14@ 15@®
16 @ 17 @ 18®

19 | took it as having a place to stay all around the world.
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06 should have read 07 @

08 Some of the apples were rotten. 09 ® 100

11 As you work more, you make more money. 12@

13@ 14®

15 more than half of the boys on his soccer team wear them

16 ® 17@ 18® 19@
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05 Since there’s no gravity in space, we had to grow

06 @

07 I wish I could see Earth from space with my own eyes.
08 @

09 The students listened to me with their eyes shining.

10® 1M1®

12 If she weren’t kind, we wouldn't like her. 13®
14@ 15 Which do you think it will choose? 16 @
17® 18@ 19® 20®
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